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Summary
This contribution proposes to add  test cases to [HSTP.CONF-H762] in order to enrich completeness of the documents .
1 Introduction
Currently HSTP.CONF-H762 has only a few test cases using LIME-Script.

2 Discussion and Proposal
 This contribution proposes to add test cases checking the properties of LIME-Script, especially targeting at the basic operational functions comparable to the core profile of H.IPTV-MAFR.6.

Annex

<bml>

<head>

<title>DOM currentEvent Test: all buttons</title>

<style><![CDATA[


body {used-key-list:basic numeric-tuning data-button;}


p {color-index:7;}


p.title {left:100px;top:10px;width:460px;height:25px;}


#status {left:20px;top:50px;width:450px;height:100px;}

]]></style>

<script><![CDATA[

var type = document.getElementById("type").firstChild;

var kcode = document.getElementById("code").firstChild;

function handler(){


var evt = document.currentEvent;


type.data = evt.type;


kcode.data = String(evt.keyCode);

}

]]></script>

</head>

<body>

<p class="title"> Please hit a numeric button </p>

<p id="status" style="nav-index:0;" onkeydown="handler();" onkeyup="handler();">


Last key event type is: <span id="type"><![CDATA[]]></span><br/>


Last hit key's code is: <span id="code"><![CDATA[]]></span><br/>

</body>

</bml>
<bml>

<head>

<title>DOM currentEvent Test: basic buttons</title>

<style><![CDATA[


body {used-key-list:basic;}


p {color-index:7;}


p.title {left:100px;top:10px;width:660px;height:25px;}


#status {left:20px;top:50px;width:450px;height:100px;}

]]></style>

<script><![CDATA[

var type = document.getElementById("type").firstChild;

var kcode = document.getElementById("code").firstChild;

function handler(){


var evt = document.currentEvent;


type.data = evt.type;


kcode.data = String(evt.keyCode);

}

]]></script>

</head>

<body>

<p class="title"> Please hit an arrow button, "Back" or "Enter"</p>

<p id="status" style="nav-index:0;" onkeydown="handler();" onkeyup="handler();">


Last key event type is: <span id="type"><![CDATA[]]></span><br/>


Last hit key's code is: <span id="code"><![CDATA[]]></span><br/>

</body>

</bml>
<bml>

<head>

<title>DOM currentEvent Test: data button</title>

<style><![CDATA[


body {used-key-list:data-button;}


p {color-index:7;}


p.title {left:100px;top:10px;width:660px;height:25px;}


#status {left:20px;top:50px;width:650px;height:100px;}

]]></style>

<script><![CDATA[

var type = document.getElementById("type").firstChild;

var kcode = document.getElementById("code").firstChild;

function handler(){


var evt = document.currentEvent;


type.data = evt.type;


kcode.data = String(evt.keyCode);

}

]]></script>

</head>

<bevent>

<beitem id="DataButtonPressed" type="DataButtonPressed" onoccur="handler();" subscribe="subscribe"/>

</bevent>

<body>

<p class="title"> Please hit the data (d) button</p>

<p id="status">


Last key event type is: <span id="type"><![CDATA[]]></span><br/>


Last hit key's code is: <span id="code"><![CDATA[]]></span><br/>

</body>

</bml>
<bml>

<head>

<title>DOM currentEvent Test: numeric buttons</title>

<style><![CDATA[


body {used-key-list:numeric-tuning;}


p {color-index:7;}


p.title {left:100px;top:10px;width:460px;height:25px;}


#status {left:20px;top:50px;width:450px;height:100px;}

]]></style>

<script><![CDATA[

var type = document.getElementById("type").firstChild;

var kcode = document.getElementById("code").firstChild;

function handler(){


var evt = document.currentEvent;


type.data = evt.type;


kcode.data = String(evt.keyCode);

}

]]></script>

</head>

<body>

<p class="title"> Please hit a numeric button </p>

<p id="status" style="nav-index:0;" onkeydown="handler();" onkeyup="handler();">


Last key event type is: <span id="type"><![CDATA[]]></span><br/>


Last hit key's code is: <span id="code"><![CDATA[]]></span><br/>

</body>

</bml>
<bml>

<head>

<title>Test of LIME-Script Control Structures</title>

<style><![CDATA[

body {

    resolution:1920x1080;

    display-aspect-ratio:16v9;

  }


#display
{ font-size:20px;color-index:7;



top:0px;left:30px;width:1240px;height:1080px;}

]]></style>

<script><![CDATA[

function printd(str){


var obj = document.getElementById("display");


obj.firstChild.data = str ;

}

function printlnd(str){


var obj = document.getElementById("display");


obj.firstChild.data += str + "\r\n";

}

function alert(str){


var obj = document.getElementById("display");


obj.firstChild.data += str + "\r\n";

}

function main(){

var msg; 

msg ="*******************  Testing the control structure for LIME-Script   ********************\n"

alert(msg);

msg+="================================= Operators ========================\n";

printlnd(msg);

/******************************************************************************************

Operators

********************************************************************************************/

xx = 3 + 2;   // xx is 5 

printd("1st:"+xx);

xx = 3 - 2;   // xx is 1

printd("2nd:"+xx);

xx = 3 * 2;   // xx is 6 

printd("3rd:"+xx);

xx = 3 / 2.0;   // LIME does not support. 3/2 and 3%2 are the same

printd("4th:"+xx);

xx = 3 % 2;   // xx is 1 

printd("last:1="+xx);

msg += "  Operators  +-*/% passed\n";

alert(msg);

xx = 5;

if (xx == 5) {

    printd(xx + " is five.");

}

/*

if (yy != "ABC") {

    alert("yy is not ABC.");

}

*/

if (xx < 123) {

    alert(xx + " is smaller than 123 "+ (xx <123));

}

if (xx < "123") {

    alert(xx + " is smaller than "+"123"+ (xx <123));

}

if ( 123  ==   123 ) { printd(1==1); } else {printd(0==1);}     // true

if ( "123"  ==  123) { printd(1==1); } else {printd(0==1);}    // true

if ( 123  ==  "123") { printd(1==1); } else {printd(0==1);}    // true

if ( "true"  ==  true) { printd(1==1); } else {printd(0==1);}    // false

if ( ("true"  ==  true) == (0==1)) { printd(1==1); printd("          ");} else {printd((0==1));}    // true

printd("");

msg+= " Operaters \'==\', \'<\', \'>\', \'true\',\'false\' passed";

alert(msg);

/******************************************************************************************************/

msg+="\n----------------------------------  Logical Operators ------------------------------\n";

/*********************************************************************************************************/

var mon =6;

if ((1 <= mon) && (mon <= 12)) {

    alert("mon is between 1 and 12.");

}

var zz ="ABC";

if ((zz == "ABC") || (zz == "abc")) {

    alert(zz + "is ABC or abc.");

}

alert(xx);

yy = (xx >= 5) ? "big" : "small";

printlnd("yy is "+yy);

msg+= "\n  Logical Operaters \'||\', \'?\:\' passed\n";

alert(msg);

/*

xx = 0x87654321 & 0xffff0000;  // xx is 0x87650000

alert("1st:"+xx+"=0x87650000");

xx = 0x87654321 | 0xffff0000;  // xx is 0xffff4321

alert("2nd:"+xx+"=0xffff4321");

xx = 0xffff0000 ^ 0xff00ff00;  // xx is 0x00ffff00 

alert("3rd:"+xx);

xx = ~0xffff0000;              // xx is 0x0000ffff

alert("4th:"+xx);

alert("eval 12 * 3= "+eval(12*3));

alert("Math.floor(Math.PI)="+Math.floor(Math.PI));

*/

/*

alert( 9<<2);

alert(9>>2);

alert(19>>>2 );

*/

msg+="=================================Control Statements=======================================\n";

alert(msg);

/* IF statement */

var n = 6;

if (n < 10) {

    printlnd("1:>> IF statement correct ----------------:::   "+n+"< 10");

} else {

    printlnd("1:>> IF statement wrong as "+n+"< 10");

}

printd("");

msg+="\n1:IF statement passed";

alert(msg);

/* ELSE IF */

if (n < 5) {

    alert("2:IF incorrect ---- as "+n+"< 8 and "+n+">5");      

} else if (n > 8) {

    alert("2:ELSE IF incorrect ---- as "+n+"< 8 and "+n+">5");         

} else {

   alert("2:ELSE passed ---- as "+n+"< 8 and "+n+">5");     

}

 msg+="\n2:ELSE passed";     

alert(msg);

/* FOR works */

for (i = 0; i < 3; i++) {

    alert("FOR works as "+i+"<3");

}

msg+="\n3:FOR passed";     

alert(msg);

xx = new Array(3);

xx[0] = "A";

xx[1] = "B";

xx[2] = "C";

for (i in xx) {

    printlnd("FOR IN passed as "+xx[i]);

}

msg+="\n4:FOR - IN passed";     

alert(msg);

/* WHILE works */

m = 0;

while (m < 5) {

    alert(m);

    m++;

}

msg+="\n5:WHILE passed";     

alert(msg);

/*BREAK works */

for (i = 0; i < 10; i++) {

    if (i == 5) {

        break;

    }

    alert("after break ="+i);

}

msg+="\n6:BREAK passed";     

alert(msg);

/* CONTINUE works */

for (i = 0; i < 10; i++) {

    if (i == 5) {

        continue;

    }

    alert(i);

} 

printd("");

msg+="\n7:CONTINUE passed";     

alert(msg);

printd("");

msg+="\n ***************** LIME-Script Control Stucture test completed ************** \n";

alert(msg);

}// end Main()

]]></script>

</head>

<body onload="main();">

<p id="display" style="top:10;left:50"><![CDATA[]]></p>

</body>

</bml>
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